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[ia 22,000 25,000 A 3,000
405 RHoHE S HI 6,000 0 6,000
= 3,000 0 3,000
e 3,000 0 3,000
01 et EFSFHSHI 6,000 0 6,000
OADLE HAEHE DEs 29 28 7
6,000,000& 6,000 0 6,000
= 3,000 0 3,000
[ 3,000 0 3,000
MIIEE23 A EaH(AS) 166,500 135,000 31,500
< 36,825 30,175 6,650
e 129,675 104,825 24,850
402 RIZHXHE0I A 157,500 126,000 31,500
= 34,125 27,475 6,650
e 123,375 98,525 24,850
02 It EAIL EZ (01X THS) 157,500 126,000 31,500
OZeZ Mg S8 NEE S50 Mot AlY
20,000,000& * 1A * 70% 14,000 0 14,000
=) 3,150 0 3,150
i 10,850 0 10,850
O Q& ICTAE JIgtXZ4d AlY
25,000,000& * 1A * 70% 17,500 0 17,500
=) 3,500 0 3,500
[ 14,000 0 14,000
AOE HAEHE 29 4,176 0 4,176
101 @124 dl 4,176 0 4,176
04 JIZtHZ2XREES 4,176 0 4,176
OALLE HAEHE 2elo2d 4,176 0 4,176
=0 1,881,000& » 1H » 20 & 3,762 0 3,762

_6_




2N sI|=HE
MM sEQUEKN U Sl 23
TRl ASES) =23 (GHel &)
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
| | EEEPIEEEE] 3,762,000 * 11% 414 0 414
=NEY D82 883,952 886,433 A2,481
= 162,716 162,716 0
(= 16,275 16,275 0
= 704,961 707,442 N2,481
SHAY JlsvE2 7,200 7,200 0
301 Yt A2 6,600 6,600 0
09 BALAHI XIS 2 480 1,080 2600
OXFEs=odRs N ZAH|
23X 480,000 480 1,080 2600
12 It 42 6,120 5,520 600
OXHES=sYHATRS N AT
ZA 6,120,000 6,120 4,270 1,850
OXEsPATS A N I 24
3F ok 0 1,250 A 1,250
HerAzea 29 232,986 233,217 A 231
405 KtHAHE SH 4,389 4,620 A 231
01 THAt Y EE F SH 4,389 4,620 A 231
OZEIDICIHG A A AE RO
ZA 4,389,000 4,389 4,620 A 231
seied 29 20,978 23,228 A2,250
201 LEr2HH| 2,500 4,750 22,250
02 B22ZH] 0 2,250 A2,250
OKel2a AlA/EH S 3 0% 0 2,250 A2,250
Had spazga 29 10,000 10,000 0
2 5,000 5,000 0
2 5,000 5,000 0
206 X 24l 5,000 3,000 2,000
=2 2,500 1,500 1,000
2 2,500 1,500 1,000
01 M2 Hl 5,000 3,000 2,000
OFSA =AU A 29 HEH|
ZA 5,000,000 5,000 3,000 2,000
=2 2,500 1,500 1,000
= 2,500 1,500 1,000
405 KtAHE SH 5,000 7,000 A2,000
2 2,500 3,500 A 1,000
2 2,500 3,500 21,000
01 IHAtY 2 E F SH 5,000 7,000 22,000
OFSA =42 A 29 =Y 2
ZA 5,000,000 5,000 7,000 A2,000
2 2,500 3,500 A 1,000
= 2,500 3,500 A 1,000
JIHE s 753,679 742,190 11,489




2N
X ZH -
L= B

el

2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
= 76,890 76,890 0
< 19,500 19,500 0
2 657,289 645,800 11,489
=013 YA e 454,894 458,960 A 4,066
201 Yur2 Y| 183,116 173,116 10,000
02 B2l 170,527 160,527 10,000
O2YFY SNUH(RIZYITE)
2% 90,000,000 90,000 80,000 10,000
405 X+ &HF S| 235,634 249,700 A 14,066
01 U SZ S| 235,634 249,700 £ 14,066
OSJIHEY L 2B PY 231,302 247,700 £16,398
S0IYIN(SENA ARTY)
A 64,754,790 64,755 66,000 A1,245
~=SYXHI(SENL ARPY)
A 13,120,470 13,121 13,200 AT9
BRI EIN(WMTAY)  FH 19,750,000 19,750 21,000 A 1,250
SROMXIDHA DI (HM R ) 2 19,504,760 19,505 20,000 £ 495
~EE (HHPY) M 19,575,130 19,576 24,000 ~4,424
~2 A0 (HAPY) 3N 51,459,200 51,460 54,000 A2,540
-~ I =0 (AP Y) 2% 20,795,0009 20,795 26,000 £5,205
~SUENATAT(HHTY)
2% 20,840,000 20,840 22,000 A1,160
OFESASLI| PA(ANA) HH 1,331,140 1,332 2,000 668
OL=20ISAMLI2(SHIIH AotTES)
500,0008 * 64 3,000 0 3,000
CEYH L SEIEES 15,555 0 15,565
201 YEr2 Y| 7,555 0 7,555
01 AL 2t 7,000 0 7,000
OZzI 2oyl 7,000,0002 7,000 0 7,000
02 BBl 555 0 555
O2YFY RER(S2) 500,000% 500 0 500
OS2I SH2(S2) 55,0002 55 0 55
405 Xtk 3 S| 8,000 0 8,000
01 LS Z S| 8,000 8,000
ORogI|(EE) PY 8,000,0008 * 1CH 8,000 0 8,000
BHS AP (SYIISHH) 70,040 66,040 4,000
22U (5YINEHE) 70,040 66,040 4,000
o= 2 70,040 66,040 4,000
201 Yur2 Y| 55,200 51,200 4,000
01 At et 50,836 46,836 4,000
SR 2% 12,610,0009 12,610 8,610 4,000




SA: sYIEME
M HRES(SYIEHH)

ool BENE(SYIISHE) CER-ED
= HH - (3 H) - HEMY - BdS Ol &F o4 I E M Husz
eSS (sYIsHE) 1,640,485 540,485 1,100,000

BHNE(SYINEHH) 1,640,485 540,485 1,100,000
+ENHSEHN HES 1,600,000 500,000 1,100,000

701 JIEISI NS HES 1,600,000 500,000 1,100,000
NPEEEEEE! 1,600,000 500,000 1,100,000

OFEP=Y S2HME &7
2% 1,600,000,0008 1,600,000 500,000 1,100,000




